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360
≈ 4,6 𝑚/𝑠
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𝑡𝑎𝑛 𝐵̂ =
1,15

13
𝐵̂ = 𝑡𝑎𝑛 (

1,15

13
) ≈ 5°

𝜋 × ² ≈ ³ ≈  531
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https://www.onisep.fr/Ressources/Univers-Metier/Metiers/climatologue
https://www.onisep.fr/Ressources/Univers-Metier/Metiers/meteorologiste
https://www.onisep.fr/Ressources/Univers-Metier/Metiers/reporter-photographe-reportricephotographe
https://www.onisep.fr/Ressources/Univers-Metier/Metiers/reporter-photographe-reportricephotographe
https://www.onisep.fr/Ressources/Univers-Metier/Metiers/journaliste-reporter
https://www.onisep.fr/Ressources/Univers-Metier/Metiers/cartographe
https://www.onisep.fr/Ressources/Univers-Metier/Metiers/geomaticien-geomaticienne
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